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Sr Questions Answers Choice

1 Choose the correct meaning of the underlined word:disintegration means
A. united
B. unity
C. decomposition
D. composition

2 Choose the correct meaning of the underlined word:diverted means
A. personal
B. punished
C. local
D. distracted

3 Choose the correct meaning of the underlined word:moderate means
A. extricated
B. extra
C. calm
D. piece

4 Choose the correct meaning of the underlined word:nomenclature means
A. honour
B. naming
C. disgrace
D. entangled

5 Choose the correct meaning of the underlined word:abstract means
A. immaterial
B. harmony
C. disunited
D. united

6 Choose the word with correct spelling
A. comunity
B. communty
C. community
D. cummunity

7 Choose the word with correct spelling
A. dacibel
B. decibel
C. desibel
D. deciabl

8 Choose the word with correct spelling
A. nuisance
B. nisance
C. nusance
D. nuiscence

9 Choose the word with correct spelling
A. pullutiion
B. pillution
C. pollution
D. polution

10 Choose the correct form of verb:They .................... to sleep at ten.
A. go
B. goes
C. went
D. gone

11 Choose the correct form of verb:We had never ......................... Karachi before.
A. go to
B. goes to
C. gone to
D. went to

12 Choose the correct form of verb:He has not been speaking to me ..................... March.
A. for
B. since
C. this
D. to

13 Choose the correct form of verb:The book .................... lying on the table for weeks.
A. has been
B. have been
C. was been
D. had been

14 Choose the correct form of verb:She is ................. English now.

A. speaking

B. speaks
C. spoking
D. spoken

15 Choose the correct option according to the grammar:It is time to shut up the shop. The
passive voice of this sentence is ..................

A. It was time for the shop to be shut
up.
B. It is time for the shop to be shut
up.
C. It is time for the shop to shut up.



passive voice of this sentence is .................. C. It is time for the shop to shut up.
D. It is time for the shop to being shut
up.

16 Choose the correct option according to the grammar:The boy laughs loudly. The underlined
word is a/an

A. intransitive verb
B. regular verb
C. transitive verb
D. irregular verb

17 Choose the correct option according to the grammar:You ...................... be punctual.
A. ought to
B. should
C. must
D. would

18 Choose the correct option according to the grammar:I ........................... you to ride my bike if
you like.

A. had given
B. give
C. will give
D. gives

19 Choose the correct option according to the grammar:How cold the night is This is a/an
................... sentence.

A. assertive
B. interrogative
C. exclamatory
D. imperative


